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Answer all the questions

Wrong answers will be penalized.

I. Rename this file with your first and last name.

II. Only the answers on this word file will be graded.

III. Write your first and last name to the footer.

IV. Save the file on your computer (temporary directory of your computer).
V. The level of significance (α) is at 0.05 (5%), unless otherwise mentioned.

VI. Try to save/re-save this file often.

VII. Do not forget to upload this word document to the system.

Write your name here: 
________________

Use the Eviews file Question_1.wf1 for this part:

We have data from Passenger Car Miles Data
Vol: Cubic feet of cap space

HP: engine horse power

MPG: Average miles per gallon

SP: Top speed, per mile

WT: Vehicle weight, hundreds pound 
Consider the following Model
MPGi = β1 + β2  SPi + β3  HPi + β4  WTi + ui
Assume that variance changes with WT, then 
a. Perform Goldfeld-Quant test.
b. Perform White’s hetorkedasticity test.  
c. Perform Koenker-Basett test

d. Perform a set of Glejser’s test of 3 (You need to perform three Glejser tests in any specification that you desire).
e. Conduct Park test.
f. What is the (F) GLS estimates for 
i) if var(u) = HP σ2
ii) if var(u) =  σ2/log(WT)
iii) a. if var(u) = HP2/WT σ2
g. What is the right OLS estimate for all the parameters?
Let var(u) =  σ2/log(WT), the test Ho: β4 = 0 versus not Ha 

i. Under GLS

ii. Under OLS

2. Consider the determinants of U.S. Domestic Price of Copper, 1951-1980

log(Copt) = β1 + β2 log(It)+ β3 log(Lt)+ β4Log(Ht)+ β5 ln(At) + ut 




YEAR = Year







Cop = Twelve-Month Average U.S. Domestic Price of Copper, Cents per Pound

G = Annual Gross National Product, Billions of $



I = Twelve-Month Average Index of Industrial Production



L = Twelve-Month Average London Metal Exchange Price of Copper, Pounds Sterling
H = Number of Housing Starts per Year, Thousands of Units




A = Twelve-Month Average Price of Aluminum, Cents per Pound



a) Perform the DW test for positive autocorrelation

b) Perform the DW test for negative autocorrelation

c) Perform the Breusch-Godfrey test to determine the degree autocorrelation up to 7 lags.  [You do not need to report all the test results]
d) What is the degree of autocorrelation  

e) Consider that p=2, then what is the (F)GLS estimation of the model?

f) Test Ho: β2=0 versus Ha: Not Ho for both 
i. OLS

ii. (F)GLS
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